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C. aa’,l; 25 a- l; + azlz‘ = O’u is wave d. _a 'I; ar a lzl = O.u
flow

is wave flow

6. The Charpit’s auxillary equation for the equation

p-qg’=x-yis

S S s 2 e p A dg

a. y — = — = — - = —
E2P ) siLp)eg(2q) i : 2p 29 P2p) - q(2q) 1 1
dx dy d= dp dq & d: dp  dg
¢ — = =—= d. —
=2p 2q -p(2p)-q(2q) 1 | 2p 29 -p(2p)-q(2¢) -1 1

7. The Differential equation (p —g )z — px—qy)=1 &

a. a first order non linear PDE b. a first order Linear PDE
¢. asecond order non linear PDE d. a second order linear PDE

8. The Clairaul’s equation in PDE is

a. Z=px+qy b. y=px+ f(p)
cz=px+qy+ f(p.q) d. y =x+ pq
9. For derivation of two-dimensional wave equation,we consider
a. Arod b. A string
c. A membrane d. None of the above

10. The Partial Differential equation
25 SRR SN P - S 2)
xyr—(x°—y°)s—xyt+ py—qx 2(.\' V- )

a. hyperbolic b. elliptic
c. parabolic d. Parabolic and hyperbolic

11. If  the  particular  integral of  the  partial  differential  equation

(02 +2DD + 1 '2)2 = COS(.\‘+2y) is k COS(.\‘+ 2y), then value of k is

| |
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c. — d. ——
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12 The complete solution of the PDE ([(]) —CoS x) =COS yis
: sin y : sin y
a. z=ax—sinx— ) +b b. z=ax+sinx———L +b
a a
; sin y : sin y
¢ z=ax—-Sinx+——+b d. z=ax+sinx+ '}+b
a a
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b. Hyperboli
d. Nong
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Time : 2 hrs. 30 mins. Marks : 50

[ Answer question no.1 & any four (4) from the rest |
I. A homogeneous rod of conducting material of length ‘a’ has its 10
ends kept at zero temperature. The temperature at the centre is T
and falls uniformly to zero at the two ends. Find the temperature
function u(x.t).
2. Find the complete integral of following partial differential equation ~ 5+5=10
a. pxy+pg+qy=yz
b. 2zx—px’ —2gxy+pg=0
3. Obtain most suitable solution of the wave equation 10
*u ,0% o
'\2_""\2:0 GaES
ot ox : where m
Subject to the condition boundary condition
w(0.0) =u(l.r)=0
And initial condition O1)=ul,1)
ou
u(x.o)= f(x —i=0 t=0
and (0= s Df at
where | is a length of string or wire.
4. Write two difference between Laplace Equation in plane polar 2+8=10
coordinate and Cylindrical coordinate.Prove that
R IS A O 8 R
'_""‘7'*‘—“)( e +—_, = +-—-_) =0
O T AN S el W) B
5. What are the first three steps to canonical form. Reduce the  3+7=10
following  differential equation to  canonical form
a! g a;‘ i
Yt —a=0
> o’
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particular solution of the PDE

Ox
CA

conditions #(0.7) = u(a.1)=0 V1




